SCW%@U%E@% T IRGE

CW worm reducer

BEXilMeSHSHERAD

Gelufu Machinery Equipment Manufacturing Co. Ltd



ﬁEELUFU ElWl/ BEE/ BEF/ HE

xra>>EIEER
COMPANY PROFILE

GELUFU mWiaEfR b R ERING&HED, BFEFRENE, SE~RNREX,
BRIEE. RERIFETNE, ReXTFHIELISER. KAFNHAENEEER.

A7 SER RIIFHEREEDAY, S RIIFHER - WIEEBN, F R FTMAEREE
L. KRIIFER - EEREREY, BRTRREN, TRIREHEEREEE. H. BRI
FRAET SR, WL, RVRIISBRSBITEENS T RIRT, TR,
R BATE £ Tk zhh SN uss s R A R K E.

EF@zRAFaE. 7. B, HE. BE. RE. RERs. WERH. ZEE
WMRERFTAAYARE . EERE. WRERET, AERIEER BRI BRI ERE,
(B e E s, LEERE.

FRERTRIML., SREMGTER, EraRTTrZzanERE, BEFRTTRURBILA
SXMAMASRIINRE, XTMEARISAENEAS, ANHEFRRENRERNE.

KRHR. BEFUREARE, UEEREZR. DLRAEASAFR#FAIEEN~RARER
FEt, AESIEHEERER, FEARKBINATBANFLZEHR, EhLAE TEBEHRKF
MBEARZES, ErapEAttsE. ARSHMIMEEBRAFRERMAR. ARNEETRHE
LEEHM, HOBX, XE, #E. FRIEASERMMBX, FEAPNFT.

AFRE: BEEH. RRER. ARFH —Red. —RER. —frs. —RRST
WBEREEEM.

GELLIF LMachinery Co., Ltd is a professional company specialized in researching,
developing manufacturing and selling gearboxes which was referred by machinery industry
Ministry. It is the 1SO 9001 certification enterprises.

The products combined more than 10 series gearboxes with thousands of specifications,
which include R Rigid tooth flank helical gear units, 5 Helical-worm gear units, K Helical-bevel
gear units, F Parallel shaft helical gear units, T Spiral bevel gear units, SWL, JW Worm screw
jack, H, B Rigid tooth flank gear units, P Planetary gear units, RY Worm reducer. These products
are slowdown drive device that is commonly adopted in the field of current international industrial
transmission.

These products are widely applied to the metallurgy, mine, petroleum chemical. tobacco,
ceramics, rubber-plastics, food packaging, beer beverage, transportation and logistics equipment,
automatic parking garage, environmental protection equipment. etc., which provided advanced
but economic choice for your driving application so as to make your production more smoaothly
and your achievements more brilliant,

Products of our company adopted serialized and modularized design idea, which make our
product have wide adaptability, single piece machine can embody its own function or can from
gearbox and variable-gearbox to meet different needs in combination with same series products
or other types.

Company engraves and insist on quality-based. We Seek development by reputation and
supply the credible products to the customer at home and abroad as purpose. Our company
have Introduced new equipment and new technology, thrown the excellent talented person into
development and research, made the company possess the technical strength of catching up
with and surpass advanced level and made the products possess good quality on technical
performance, internal structure and the appearance of design. The products have been exported
far to Japan, America, German, east-south Asia etc. and have received a good reputation from
its users,

Company purpose: Technology vanguard, quality model. company tenet: First - class
enterprises, first-class technology, first-class products, first-class service. welcome to visit our
company.




1

S C W 51 5 & 4, 1 B 3

Wtk >>>>>

SCWZ 5 42 A B0 [ A FF M2 (JB/T6387—-1992) HEEEE THEN LML, 13
SCWU, K SCWS,K SCWO=4F¥, FENHTHEE. i, EE, 8. L, #HSFILMZEH

ol 1 3

TAEZM . WA R RO BT 1500 /ming TAEMREEIR L} —40~407T, 2 T {FFHEE AL
TOCH, &3 AL A A3 0C AL, WaESTIE, REZE,

>>>>>

2.1 &1 8

(1) SCWUZRI—i kT 7E 8 58 2 T Al 2 =X 100 50 100 ey ol e 3%
(2) SCWST— i FT7F 8548 2 (0 b 2 =X 150 5% I3]0k o o Ol T 2%
(

3) SCWOR — b 750 58 2 b et %l 5 =X 150 T [68) AH d A dlE 2 .

2.2 HulsiE
S CW 3 51) il 2 =X 198 5L 10 g ol e 2% X5 L R 3R

X L R

BN\ d 2 3 4 - 6

5 N Hg, | | | | | | |
SCwu B—F5 63 80 100 125 = 160 —
SCWS : | | . | | | |
SCWO I | — - - — 140 — 180

200 e 250 —= 315

— 225 — 280 —

. REME RN, B _RmINHEH AR, EEERHEA P& E S Tt

2.3 nFRfEzhtt

S C WA 1) b 26 X 150 390 [58 A T 0l 22 88 119) 28 BA% 3D Lo B A% 8 EE X5 IR 3R

feshle ity 1 2 3 4 5 6 7

1 5 6.3 8 10 12.5 16 20

25 | 315 40 50 63

2.4 #Ricwpl

SCW U

200—-10—1
— T T

FJIB/T6387—1992

e S

HE R 5 A

R IR LE T MR

AR fEsh Hi=10

HLb Fia=200mm

AT ERR 2 R

By 2 X T S ) T O B

GELUFU



& GELUFU SCWERAMNFBENEZTERITE

B X R ANB R R ) SO>S
SCWU63—1008! & # g8 sh e R~

b 5 b L B R
bz
¥ i
& |
1 i tz oH_-
By -.'['I'- T \t__/

—_ R+ | i<t¢ i=l6 o
meg~_| @ | ® [d@ ] b [ b [ & [ L [dG [ b [ b [ & [ & |D«HD)
SCWUe3 _ 63 | 150 .19 _ 28 _ [ | 21.5 _ 128 | 19 _ 38 _ (<] _ 21.5 _ 128 | 30
SCWuso | 80 | 175 | 24 | 3& | 8 | 27 | 181 | 24 | 36 | B | 27 | 151 | 40
SCwu100 100 218 28 42 8 3 182 24 ae B8 27 176 50

.\_\_\_\_H--\--- : T T T T T
w_g,m{ij bz t. s s E: H: He D: Ds B |dz{hs} k | Wifkkg
scCwues = 8 | 333 | 70 | 97 | 95 | 60 | 220 | 102 | MBx16| 63 | 80 |3 | 17
sCwus0 | 12 | 433 75 | 110 | 106 & 66 | 267 125 | M8x16| 69 | 100 |3 | 24
SCWU100 14 53.8 86 130 | 140 85 325 150 |M10x20 80 120 | 3 41
SCWU125—3158F s 4 e R ~F

ap® . L4 . Lz J

Bi |l K

SREEAFLE R RACRK (F—ilF )
b2 1 F nr

R | _ i<16 | l, , _i=16_ — | |
e 2 e d: Iy | by b | Ly | i I by | b L1 .DEEH?}- i E =

SCWu125 | 125 | 235  32k6 58 | 10 | 35 | 218 | 286 | 42 | 8 | 31 | 202 | 60 | 18 | 644 | 107
SCWU140 | 140 265 38k6 58 | 10 | 41 | 228 | 28)6 H 42 8 | 31 | 212 65 @ 18 | 694 | 120
SCWU160 | 160 | 300 < 42k6 | 82 | 12 | 45 277 | 32k6 | 56 10 | 35 | 258 | 79 | 20 | 749 | 125
SCWuU180 | 180 | 330 42k6 82 | 12 | 45 | 292 | 32k6 | 58 | 10 | 35 | 268 | 80 | 22 | 854 | 1375
SCWU200 | 200 365 | 48k6 @ 82 | 14 | 515 324 | 38k6 | 58 10 | 41 | 300 85 | 22 | 904 | 143
SCWu225 225 | 415 | 48k6 82 | 14 | 515 342 38k6 58 10 41 38 | 95 | 25 1004 | 160
SCWU250 | 250 | 475 | 55k6 @ 82 | 16 | 59 | 380 | 42k6 | 82 | 12 | 45 | 380 105 | 28 | 1114 | 168
SCWU280 | 280 540 | 60m6 | 105 | 18 | 64 | 430 | 48k6 | 82 14 | 515 407 | 115 | 32 [1224 | 180
SCWU315 315 600 | 65m6 | 105 18 69 470 | 4BkS 82 14 515 447 125 32 1324 | 200

=

ﬁ”}?xiij L | Lo | Hi | He | D Ds D+ | B | B | m | R | 0 | 85| k H;}{}_E;f,m
SCWU125 | 202 143 105 | 380 | 210 M12x24 13x35 84 | 84 | 145 | 135 80 180 | 10 | 80
SCWU140 | 220 | 152 | 125 | 433 | 235 M12x24 | 13x35 95 | 95 | 160 | 150 | 105 | 200 | 10 | 108
SCWU160 | 245 158 125 | 470 | 270 M12x24 |13x35 95 | 95 | 170 | 170 | 95 | 220 | 10 | 138
SCWU180 | 260 175 @ 150 | 530 | 290 M16=30|17x45 110 | 110 | 200 190 125 245 12 | 183
SCWU200 | 295 | 185 148 | 580 | 320 | M16x30|17x45 115 | 115 | 250 | 213 110 | 245 12 | 243
SCWU225 | 320 | 198 170 | 640 | 360  M16x30 | 17x45 130 | 130 | 280 | 235 145 | 265 | 12 | 286
SCWU250 | 360 | 203 | 150 | 682 | 420 M16x30 | 17x45 135 | 135 | 320 | 265 | 125 A 280 | 12 | 350
SCWU280 | 390 | 227 165 | 755 | 450 M20x38|21x55 150 | 150 | 380 | 295 & 130 350 | 14 | 483
SCWU315 | 430 | 252 195 | 850 | 520 M20x38|21x55 170 | 170 | 410 340 150 380 15 655

GELUFU



FBLBISK

I o
@ L] - f N
.-..q,b” @ i @j
Eﬁ%ﬁi;&ﬁhﬁ = =
o _——— =T
. (=
R . , B - L _ . - _i=16 _, |
me — | 2 & "qe) | k| b t L |dge) | h | b | tw | L |PHHD
SCWSE3 63 _ 150 _ 19 _ 28 . 3 _ 21.5 _ 128 _ 19 _ 28 _ 8 | 21.5 | 128 _ 30
SCWS80 80 | 175 | 24 | 3 | 8 27 | 151 | 24 | 36 | 8 | 27 | 151 | 40
SCWS100 100 218 28 42 a kY 182 24 K1 8 27 176 50
: .
e |
A t L | L | L | W | H | D | D | B | dhe) | k| pammm
SCWS63 8 | 333 70 | 97 | 95 | 60 | 220 | 102  M8x16 63 | 80 | 3 | 17
SCWS80 12 | 433 | 75 | 110 | 106 @ 66 | 267 | 125  M8x16 69 | 100 | 3 | 24
SCWS100 14 53.8 86 130 | 140 85 325 150 |M10x20 80 120 | 3 41
SCWS125—31580 8 88 5 R <F
1 WA X (F=—447 LB )
e IF nF
: 7 & .(3\& |I|rh L ; l
R aILEm O ==y 3
= L.r,_.—.—r"_'_
bz
¥ ¥ MF
@
1 8| - E‘I_I
F——}
1 Ny I

R | i _i<l6 | ) =16 '
w5 S ds [ d h | b | & L4 d1 ol T 5 :Dzl:h?] bz ta ks

SCWS125 | 125 | 235 | 32k6 A 58 | 10 | 35 | 218 | 286 | 42 | 8 | 31 | 202 | 60 | 18 | 644 | 107
SCWS140 | 140 | 265 | 38k6 | 58 | 10 | 41 | 228 286 42 8 | 31 212 | 65 | 18 | 694 | 120
SCWS160 | 160 | 300 | 42k6 | 82 | 12 | 45 277 326 58 10 | 35 253 79 | 20 749 125
SCWS180 | 180 330  42k6 82 | 12 45 292 326 58 10 | 35 268 | 80 | 22 | 854 1375
SCWS200 | 200 | 365 | 48k6 82 | 14 | 515 324 386 58 10 | 41 300 | 85 | 22 | 904 | 143
SCWS225 | 225 415 | 48k6 82 | 14 515 342 386 58 10 | 41 318 | 95 | 25 1004 160
SCWS250 | 250 | 475 | 55k6 82 | 16 59 | 380 42k6 82 | 12 | 45 380 105 | 28 1114 168
SCWS280 | 280 | 540 60m6 | 105 | 18 | 64 | 430 | 48k6 82 | 14 | 515 407 115 | 32 1224 180
SCWS315 | 315 | 600  65m6 105 | 18 69 | 470  48k6 82 14 | 515 447 | 125 | 32 1324 | 200

;E“Ej L | Lo | Ho | H | D D D« | B | B | m | R | h |dhs) k P{C%%ngﬂl
SCWS125 | 202 | 143 | 105 | 380 | 210 M12x24 13x35 84 | 84 | 145 | 135 80 180 | 10 80
SCWS140 | 220 | 152 | 125 | 433 | 235 M12x24 13x35 95 | 95 | 160 | 150 105 1 200 | 10 | 108
SCWS160 | 245 158 | 125 | 470 | 270 M12x24 13x35 95 | 95 | 170 | 170 95 | 220 | 10 | 138
SCWS180 | 260 | 175 | 150 | 530 | 290 M16x30 17x45 110 | 110 | 200 | 190 A 125 245 | 12 | 183
SCWS200 | 295 | 185 | 148 | 580 | 320 M16x30 17x45 115 | 115 | 250 | 213 | 110 | 245 | 12 | 243
SCWS225 | 320 | 198 | 170 | 640 | 360 M16x30 17x45 130 | 130 | 280 | 235 145 265 12 286
SCWS250 | 360 | 203 | 150 | 682 | 420 M16x30 17x45 135 | 135 | 320 | 265 125 280 | 12 | 350
SCWS280 | 390 | 227 | 165 | 7556 | 450 M20x38 21x55 | 150 | 150 | 380 | 295 | 130 350 | 14 483
SCWS315 | 430 | 252 195 | 850 | 520 M20x38 21x55 170 | 170 | 410 | 340 150 380 15 655

GELUFU



SCWERAFENZERIE

SCWO63—1008! 5 iE =4 R~

L1 Lz

- L - [ I
T ' . - .
e L TR AR
' I 1|
| i m \l\\:/_/ [] it __bz!‘
T I A
| 11 SN
- |- i | ] L] | o Ll Fal ...-"-
i t1 ! Gy
g MHTHTHERIHEL . ' ~
' hung
L B JlIlk
i Ls R =T
i<16 _ - i=16 |
g di(js) | I b1 tt | L | digs) | h | ba t1 L+ Dz(H7)
SC 63| 150 | 19 | 28 | 6 | 215 | 128 | 18 | 28 | 6 | 215 | 128 | 30
SCWOB0 80 175 24 36 8 27 151 24 36 8 27 151 40
SCWO100 100 218 28 42 8 31 182 24 36 8 27 176 50
—— x i
e — NI b ta Lz La Ls He | H: | Di | Ds | B dz | k |HRKg(RGiEnm)
SCWOGE3 8 33.5 70 a7 95 60 220 102 ME8x16| &3 80 3 17
SCWOS80 12 435 75 110 106 66 267 126 |M8x16| @69 100 3 24
SCWOo100 14 538 | B6 130 140 85 325 150 M10=20| 80 120 3 41
SCWO125—315R81 F i 2Esh 2 R =T
4-Da
LR ' = n )
i A L Y RRORA (F—45RUs)
- i 4 be IF InF
HES 5 ¢
o | | &) R k
i i ﬂ_:} | { 91;5 &
# L] - - T \L i
6-Da. t c
144 fu]
R ' i=16 ’
g & TR b [ & | L |20 b | & | L
SCWO125 125 235 . 32k6 . 58 10 35 . 218 | 28j6 42 B 31 | 202 &0 18 64.4 | 107
SCWO140 | 140 | 265 | 38k6 | 58 | 10 | 41 | 228 | 286 42 | 8 | 31 | 212 | 65 | 18 | 694 | 120
SCWO160 160 300 | 42k6 | 82 12 45 | 277 | 32k6 | 58 10 35 | 253 T0 20 | 749 | 125
SCWo01a0 180 330 | 42k6 | 82 12 45 | 292 | 32k6 | 58 10 35 | 268 80 22 854 1375
SCWO0200 | 200 | 365 | 48k6 82 14 | 515 324 | 38k6 58 | 10 | 41 300 85 | 22 904 143
SCWO225 | 225 | 415 | 48k6 @ 82 | 14 | 515 342 | 38k6 | 58 = 10 41 | 318 95 | 25 1004 160
SCWO0250 | 250 | 475 | 55k6 | 82 | 16 | 59 | 380  42k6 | 82 | 12 | 45 | 380 105 @ 28 1114 168
SCWO0280 | 280 | 540 | 60m6 | 105 18 | 64 | 430 | 48k6 82 | 14 | 515 407 115 | 32 1224 180
SCWO0315 315 600D | B5m6 | 105 18 69 470 | 48k6 82 14 51.5 | 447 125 32 132.4 | 200
(me— R L [ L[ H [ H]D D: D. | B | B | m | R | h |dig) k |Wikkelfisisin
SCWO125 | 202 | 143 | 105 | 380 210 |M12x24 13x35 84 84 | 145 | 135 | 80 | 180 & 10 80
SCWO140 | 220 | 152 | 125 | 433 | 235 |M12x24 13x35| 95 95 | 160 | 150 | 105 | 200 | 10 108
SCWO160 245 | 158 | 125 | 470 270 M12x24 13x35 | 95 | 95 | 170 | 170 | 95 | 220 | 10 138
SCWO180 | 260 | 175 | 150 530 290 M16x30 1745 110 110 | 200 | 190 125 245 12 183
SCWO200 295 | 185 | 148 | 580 320 M16=30 17x45 | 115 1Mo | 260 | 213 | 110 | 245 | 12 243
SCwWo0225 320 | 198 | 170 | 640 | 360 M16=30|17x45 | 130 | 130 | 280 | 235 | 145 | 265 | 12 286
SCWO250 360 | 203 | 150 | 682 @ 420 M16=30 |17x45 | 135 | 135 | 320 | 265 | 125 | 280 | 12 320
SCwWo0280 390 | 227 | 165 | 755 450 M20=x38 21x565| 150 | 150 | 380 | 295 | 130 | 350 | 14 483
SCWO315 430 252 195 850 | 520 |M20x38 21x55 | 170 170 | 410 340 150 380 15 655

GELUFU

MANBELSWIBEHR >D>>>>
SCWEZRH| A B S5H E ¥ E%E TCWERT,

BRET6 77+ 78 791,



| B

i 1S / &l & X/ E i

e EX

APPLICATION CASE

ML BIIRSE &8, GELUFUAESE R AL L LR T A M & SRS T izEH.
GELUFURBESEZEFPHASSHFTERERNEABATN LG, EERERENNEASE, HIEMNERAR
e+ B AR,

GELUFUMEERERAmREASAINEST—&, X—SEARNSAFPEETRFNSEREM, AMSBEFM
M, EEHKAKKEI%E.




i = %X i i 12 &5 #ll IS B IR A O

Gelufu Machinery Equipment Manufacturing Co. Ltd

ik (ADD) : jAdcefRE W4 (P.C) : 071000
& (TEL) : +86-312-6784766

£R (FAX) : +86-312-6784733
http://www.gelufu.com

E-mail: china@gelufu.com




